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1. Select the most appropriate option to fill in the blank.
He did not provide his brother in his will.

(A) for
(B) to
(C) by
(D) from

Answer: a
2. Select the option that expresses the given sentence in direct speech.
My supplier told me that he could see sincerity in my eyes.
(A) My supplier said to me, "l could see sincerity in my eyes."

(B) My supplier said to me, "He can see sincerity in my eyes."
(C) My supplier said to me, "I can see sincerity in your eyes."
(D) My supplier said to me, "I could see sincerity in his eyes."

Answer: C
3. = Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and
coherent paragraph.
A. The Taj Mahal’s history is also one of the world’s greatest love stories known to everyone.
B . She was the niece of meherunissa who was married to prince salim ( later the empress bur jahan. )
C .it all started in 1607, when Mughal prince khurram, first laid eyes on the lovely Arjumand Banu Begum.
D. Khurram, the son of Emperor Jahangir, Voiced his wish to marry Arjumand, and their marriage was celebrated with great pomp.

(A) ABCD
(B) BACD
(C) ACDB
(D) ACBD

Answer: D
4. ' Select the most appropriate meaning of the underlined idiom in the following sentence.

He was quaking in his boots when he had to give a speech on the stage.

(A) To tremble in excitement
(B) To shake in happiness

(C) To shake in excitement
(D) To tremble with fear

Answer: d
5. Select the most appropriate synonym of the given word.
Comprehend
(A) Complex
(B) Deter

(C) Assimilate
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(D) Distort

Answer: C
6. Select the most appropriate ANTONYM of given word.

Zeal
(A) Anger
(B) Allure
(C) Apathy
(D) Ardour
Answer: C
7.  The two men bowed to one (1)......... and parted. D’Artagnan found himself in a difficult (2)........ He was going to have to
(3)ceeceeenanns three duels in a (4)........ of three hours. He thought, “if they kill me, (5)......... I shall be killed by a Musketeer.
Select the most appropriate option to fill blank. No 1
(A) self
(B) another
(C) each
(D) other
Answer: B
8. The two men bowed to one (1)......... and parted. D’Artagnan found himself in a difficult (2)........ He was going to have to
(3)eeeeerenene three duels in a (4)........ of three hours. He thought, “if they kill me, (5)......... I shall be killed by a Musketeer.
Select the most appropriate option to fill blank. No 2
(A) station
(B) situation
(C) relation
(D) location
Answer: B
9. The two men bowed to one (1)......... and parted. D’Artagnan found himself in a difficult (2)........ He was going to have to
(3)eeeeeennes three duels in a (4)........ of three hours. He thought, “if they kill me, (5)......... I shall be killed by a Musketeer.
Select the most appropriate option to fill blank. No 3
(A) fight
(B) think out
(C) figure out
(D) fix
Answer: A
10. The two men bowed to one (1)......... and parted. D’Artagnan found himself in a difficult (2)........ He was going to have to
(3)ceeceenenne three duels in a (4)........ of three hours. He thought, “if they kill me, (5)......... I shall be killed by a Musketeer.
Select the most appropriate option to fill blank. No 4
(A) time
(B) matter
(C) gap
(D) place
Answer: B
11. Thetwo men bowed to one (1)......... and parted. D’Artagnan found himself in a difficult (2)........ He was going to have to
() [ three duels in a (4)........of three hours. He thought, “if they kill me, (5)......... I shall be killed by a Musketeer.

Select the most appropriate option to fill blank. No 5
(A) maximum
(B) at least
(C) least



(D) even though

Answer: B
12. Select the most appropriate synonym of the given word.

Culpable

(A) Innocent
(B) guilty

(C) irresponsible
(D) immune

Answer: B
13. Select the most appropriate ANTONYM of the given word.

Impressive

(A) Industrious
(B) Ordinary
(C) sSignificant
(D) Dramatic

Answer: B
14. Identify the segment in the sentence which contains the grammatical error. If there is no error, select ‘NO error’

He married with a rich heiress last year.

(A) last year

(B) with a rich heiress
(C) He married

(D) No error

Answer: B
15. select the option that will improve the underlined segment in the given sentence. In case no improvement is needed, select ‘No
improvement.’

Make a list of most the things you would like to do once this lockdown is over.
(A) All

(B) No Improvement

(C) Each
(D) Many
Answer: A
16. Select the INCORRECTLY spelt word.
(A) Smallish

(B) Inapplicable
(C) Forbidding
(D) Seperate

Answer: D
17. Select the option that expresses the given sentence in active voice.
An enquiry is demanded by us.



(A) We are demanding an enquiry.
(B) We demand an enquiry.

(C) We may demand an enquiry.
(D) We will demand an enquiry.

Answer: b
18. Select the option that can be used as a one-word substitute for the underlined group of words in the following sentence.
Denmark has a type of government where power is held by the wealthiest members of society.

(A) democracy
(B) plutocracy
(C) monarchy
(D) oligarchy

Answer: b
19. Select the word which me the same as the group of words underlined in the given sentence.
I can’t believe that | am doing this ordinary and dull task.

(A) immoral
(B) tenacious
(C) mundane
(D) destitute

Answer: C
20. Select the most appropriate idiom for the underlined words in the given sentence.
Playing fantasy games on internet is an easy way to make money quickly but it’s risky.

(A) infor a penny in for a pound
(B) not fair and square

(C) making a quick buck

(D) bigger fish to fry

Answer: C
21. Choose the incorrectly spelt word.

(A) Glowing
(B) Practical
(C) Frighter
(D) Released

Answer: C
22. Identify the segment in the sentence which contains a grammatical error. If there is no error, then select the option "No error".
A witness had seen a youth, / perhaps aged young as/ ten or eleven, acting suspiciously.

(A) No error

(B) perhaps aged young as

(C) ten or eleven, acting suspiciously.
(D) A witness had seen a youth,

Answer: B
23. Rearrange the parts of the sentence in correct order.
Many people

P. learn better when they have something tangible
Q. hold in their hands and get their head

R. to work with, a physical object they can

S. round and low-cost 3D printers make that possible

(A) QPRS



(B) PRQS
(C) QRSP
(D) PRSQ

Answer: b
24. Select the most appropriate option to fill in the blank.
Kiran had a short as a writer.

(A) caress
(B) carer
(C) career
(D) carrier

Answer: C
25. Substitute the underlined words with the option that is closest in meaning to it.
Give us some room for improvement.

(A) room in a house for improvement
(B) advice for improvement

(C) awarning for improvement

(D) an opportunity for improvement

Answer: D
26, IR gD W, XY 3R Z 5l T9d R Tah & W U 39 THR 9 G T 2 {6 Z F99 -1 781 & IR Y 99 o 7| fF=folRad # 9 sa—r

e v 4 v € ?
(A) W,Z & &b R 2|
(B) X,Z2 & b &R 2|
(C) Zarar X 3rrar W & &b SR 8 |
(D) Z,X & &% SR 2|
(E) Z W & &b SR 2|

Answer: C
27. us faRaa %< AT ﬁ', 'take this vaccine' &1 '892' for@T JATaT %‘, 'vaccine protects us' F '263' AT 'take us safe’ Y '593"

forar srar #1134 HT T # 'safe vaccine' ® F41 for@r  STUenm?

(A) 85
(B) 23
(C) 25
(D) 26

Answer: C
28. uiF uRaw #r 3R vw AREd gt xm T@ar § BT AW gzar § 3R 35m T@ar ¢, 3k fv e Fgar @ sk 18m
TodT ¢ g8 @ g q¢ A3 § AR 9m TWar &, AR BT A0¢ F3AT § IR 60m T ¥l F9T § gg 9¢ {3AT § IR 9m
Terar §, 3R AT a1e gzar ¥ 3R 12 maw §1 98 3d H aF g3t ¥ AR 35 mTwar ¥ 3R 3@ Bg aF gg@ar ¢ A
WRieE g & qf & S 10m # g W ¥ xF A Frgen 22

(A) 22

(B) 36

(C) 20
(D) 30

Answer: c
29. fw av Rwedt & § 39 IR Wi # gfav ot =A@ s@ar & was s W I gFar 8 few ) F
ECDR, BGYW, YKTB, VOOG, ?, PWEQ



(A) SSKM
(B) SRIL
(C) SSIL

(D) RSIL

Answer: C
30, IR PHER FAT "2 QFT T +ERFATHT g 3T SH Y g A T IT ASF A 2 F TUT W AT
3T ?
34P175S9?13R11S3R4=-6

(A) R

(B) S

(€ a
(D) P

Answer: C
31. & g 9w 4, LINE @1 PMRI forar S &1 90 w91 3§ WORK &1 fe gaR forar

SITQT?

(A) ASVO
(B) BSWO
(C) ASVQ
(D) ATUO

Answer: A
32, 39 fawe @1 999 BN d veal @ 9 98l Gad 8, Sl A Q) T g & 9Kl D a2
F8 =3 (RAM)
(A) fiiex = JoReie
(B) ®I—dIS = srewracH
(C) ¥y (CPU) = Hffvex
(D) =< feva = guadt (USB)
Answer: A
33. T Ry MU A iR el @l eagde ue iR qa¢ 6 B @ et do &1 difod
U T B 22

HY:

MR Red & ded SUANT ¥ 3idd: ITad Vg 9g) Siiad & forg TR @awT
S~ B ST |
fr=ps:

1: 3t saffaia s W ufidy amar S 2, a1 AFadr & fage 89 &

AT A8 BRAT TS|

2 Red & AUS SYANT W qrddl TR Y91 8] IS |

(A) 1 ureid o_ar 8 URg 2 Ut el drar |



(B) 1 3R 2 urer o ¥
(C) Aar 18R 1 & 2 urais &var 2|
(D) 2 urem &xar 8 W 1 ure g dRar 7
Answer: C
34. @Rl & I WA @ T g, 9 & T sfaer & Rea el ¥ saeg wU A @
R SRgE qoT &1 gt |
Z.SM.Q.MZQ.M.Q.M
(A) QZSSZS
(B) QZSSZQ
(C) SZQSZS
(D) QZSQZS
Answer: A
35. sERi & 99 WIS BT 9749 B, O S TR sREer & Rad RE # $Hdg 9 3
G R G Yot 81 e |
CIST . RNCI. TERNC.STER.
(A) SENI
(B) ESIN
(C) IENS
(D) IESN
Answer: B
36. Jan, sfaar o 7 g1 B, fg @ A 21 g, fg @ At @ e 2
T &1 ddST | FAT A 87
(A) =i
(B) ==
(C) g
(D) =

Answer: A
37. S -G BT TG BN, o 1 B S Fe B g9 wY | ofid e 2



@
(A)

@
(B)

.
(€)

.
(D)

Answer: A
38. 3ft ¥ &1 fEgar MN R 3@ o1y, a1 ]y U o & sdor ufafds &1 = g |






(D)

Answer: A
39. 49 & Te difed 3R Aefe &7 F FaRerd o |

. R

1. &fy

NI, %o @erd

IV, e
(A) IV, 1, 111, 1
(B) 11, 11,1V, |
(©) 1,1V, 1, I

(D) L1, v, 1

Answer: C
40. = # 9 -0 =1, & TS A0 H gearEs e (?) R0 W me?

50, 86, ?, 127, 136, 140, 141
(A) 99
(B) 123
() 111

(D) 103

Answer: C
41. T TNl & 918 &1 16y | &R 1 Ry U € | worl B 9 A gY, 9ol B 3 9

U I 9l I S udig '8 8, FEiRa e 6 em @1 /9 Y seml @1 difed
Y AR AT &/ FA 2 |

B

1. BB IyHT, 7 |

2. T IuaRY, dore § |

farsp:



w P A 7, Aore T 2

w Hy 7L, Aoie T
(A) Beer Frepd | sreRer e 2|
(B) 7 @ fsmy | iR 7 & 11 arga=or v 7|
(C) Baet i |1 e et 2|

(D) @ a1 sy | 4 a1 11 1RRer vl 2 |

Answer: C
42. & TS e § el @ weer @ S |

(A) 11
(B) 14
(C) 15
(D) 12

Answer: A

43. fow Reer # Frafaf@a aeel #1 a8 a1 Rar o 3, B w07 7 3 336 asqaier & ama
gl
1 Broken 2 Bread
3 Bridge
4 Bride
5 Broom
(A) 2,4,3,1,5
(B) 4,5,2,1,3
(C) 2,4,51,3

(D) 4,2,3,5,1



Answer: a
44. Three different positions of the same dice are shown. Select the symbol that will be on the face opposite to the one showing
l%l

(A) =
(B) @
(€) +
(D) *

Answer: c
45, & 71§ Avft H vh FEAT A g R v [Feul # ¥ 99 FEA N IgEE|
3,5,7, 6, 10, 14, 12, 24, 28, 24, 40, 56
(A) 28
(B) 24
(c) 10
(D) 12

Answer: b

46. few aw Yot FY eureT @ 9¢ AN 3W GEAT FT AT FY, AT SHA WA R e (?) F T W 3T TFAT &

(14 |26 [182 |
24 |16 [192
2 |22 [187

(A) 30
(B) 21
(C) 23
(D) 17

Answer: d
47, frefaRed § @ okTd 91 ugEn |

(A) prt
(B) bdf
(C) suw
(D) kmn

Answer: D
48. faw 90 fashedl A @ 38 AP 1 =TT HY S et I - J@enr #
geAREsT (?) F TAT G 3T Tohd! &2



1l O S| C
> | " < O — ?
F < 5— > ol °*
Oo—
—l)
—
(A)
—0
—
—k
(B)
—a0
—D
o
(€)
D_..-...-.
—)
——
(D)
Answer: D
49. fRT 7T Yoot FT LAWTEF AT PAT IR 37 FE&qT FT TFF NRAT AN 377 Reaars Rea (2) F vfawaa
FT FHdT gl
(7,5,10)
(2,1,5)
(16,6, ?)

(A1 FEAmt F 3uF ueH I A fwnioa v R, of et w @ aftd @fFd i Sl e S 13 A
AifvT 13 W A afFET S B 13 # SsAvEEEAET T e R ST aFar €1 13 #7133 F dsaw sk
frt 1 3R 3 W A WRFTE F A seafa ad ¥ )

(A) 50
(B) 32
(C) 24
(D) 45

Answer: A
50. wEHEt & A @0y &1 a9
(A) (17-51-147)
(B) (22-66-198)
(C) (10-30-90)
(D) (15-45-135)

Answer: A

51. wicisifae o § siF—ar geref foemm= siar 27
(A)  PbO
(B) Cr203

(C)  aNed



(D) fRieax siaES

Answer: D
52. fy=faRaa 94 @ si9—f e safsy arm & =Y =i ?
(A)  gdiw=er
(B) faad=
(C) uxmad+t
(D)  =afa@m=or

Answer: A

53. 1 #@rgHiva 2—

(A) o1 faEf
(B) 0.01 T
(C) o0.001 |
(D) o0.001 Y.

Answer: D
54. = g v fawed § 9 NABARD &1 98! 7of w9 31 &7
(A) “eFa @ Bk T Reice Saewde (National Bank for Agri Related Development)
(B) et §o BR THideaR Ue wxal sdawic  (National Bank for Agriculture and Rural
Development)
(C) 7o d& Bk Tider U RERt sdawse (National Bank for Agriculture and Resource
Development)
(D) e d% wik YRre Red Sdaewse (National Bank for Asian Research Development)

Answer: B
55. Sferaiarer amm RASR ————— BT FTT T |
(A) 15 ar 1919
(B) 20 fezmr 1919
(C) 13 e 1991
(D) 25w 1919

Answer: C
56. TR sfearaiTed e Hel Red 8—

(A) ergets
(B) =mER
(C) warfsar
(D) =urer

Answer: C

57. fufafea & & e sea g #7 [wir G g2
(A) =TT T2 HT5A
(B) STTEATT TP TSTHTT UTFARTOT (NHA! Your
(C) AT ¥
(D) HTAHAT UTH TEFH ATSAT

Answer: A

58. AN, ukeTe 3R sreAEr S frg SREhRR ReTd & fRear g2

(A) g



(B) =ieT &dr

(C) T ATEUST
OEGIETED
Answer: B

59. 1978 ¥, HIALT F---- HeMre T HOfxy % TfarwTe 1 "wifor srferamet & = & ger fagm 7 o 3T & i == 300A F siadiq
T Ao fafae wfaerre # ufafaa F2 fe=m = am

(A) 437
(B) 42T
(C) 453
(D) 44

Answer: D
60. AT STALTT FT HIF-AT AT=8 5T AT 6 Goed § GHiad 8?

(A) TT=5= 95
(B) =R 85
(C) &IT=== 90
(D) === 80

Answer: D
61. wz FT T FEAT (2n) - |

(A) 10
(B) 20
(C) 15
(D) 18

Answer: B

62. HRd H IRIET T 3Teheled Il & o0 AFItai@d & & faa [Afer &1 39aier fomar srar g2

(A) agmnﬂaﬁa“rw (Multidimensional Poverty Index)
(B) @TIeT feTeTar (Relative Poverty)

(c) foRder faeierar (Absolute Poverty)

(D) S FI3E 3feTaTe (Head Count Ratio)

Answer: D

63. Aafafed & & F9-97 T THE A1, S AT ATad 6l Gt 6 (o7 ATTEEF 87?

(A) TSt 90T (Blossom showers)
(8)  (Loo)

Q) W-T@Jﬁga'r (Nor Westers)
(D) 3T FUT (Mango showers)

Answer: C

64. HHTAT H ATTUF TUT 400 cm | AT T &, TIF qA21@ ¥ IR TSI | T8 10 cm & FHF FIAT &l HAF & AT T2, A
H it aut & e ool & & fF-ar 82

(A) ofzrdt s F srfers



(B) &= % = Wgcad Ul ¥ & §T, sTeAfers qaiadesfier
(C) IX =91 § THHHTT
(D) ST AT H IfAw

Answer: B

65. AT STAET & 6T FeTe gTeT HITers HaeAl il AT H1 1T 6T AT 977

(A) 42
(B) 43
(c) 41
(D) 40

Answer: A

66. sT%zay, 2024 ¥, Fuferfaa & & G, wiafed Sexqame ueemitese Hevem aos T JaTs § gvaTi=a o wr?

(A) . Fregegae
(B) |Timg& T
(C) . A=
(D) TH. HIHATIT

Answer: D

67. HTH 2024 ®, @ HAT IR 3TH 7 HAUST HigeAT ([Gad F (a9 2 (497 &7 | "igarst & oy fhad g Iopear a3
(NCOE) TTfud T st =SroorT ir?

(A) =

(B) =X

(C) ==

(D) =&

Answer: d

68. Aafarfad & & #i9-aT1 2023 T #t FufT F AT AT T T8 Fa1 1A A 82

(A) Rme-Feargams
(B) SRAAT-T®
(C) feeaetl-seT
(D) TEEFaqH-fe=T

Answer: a

69. fHufes AT 2,4-D T ITINT AHAR TT---- % &9 | Foha1 ST 2

(A) @}f'{l’qﬁ (stress hormone)

(B) fRmrfemr 'Q"I'lﬁ’vf (signalling hormone)
(C) %ﬁ?ﬁg‘l’qﬁ(defense hormone)
(D) gfFHT== (herbicide)

Answer: d

70. fRuforfEd & & F9-97 F99 w00 F a7 F qel Tal 8?

(A) TZ WM F 1= aTer=d S e 1 gfwar g



(B) T THEATAN &l T FeeA 3T AT [AFTH ATHA T T4 § Hag FAT g
(C) Tg HIHTEIA AT 9T+ H HEE F¥aT g
(D) =g ferer, ST 3T GEATSA F TATE FT TcATRT FT 2.

Answer: b

71. 3TTEA 2023 ®, AL F T GATAT F T2aL A F d@d T F S 379 AL [Feeq #7 HSrs 7 aaaae e g €9 %
fafifa os a= ffa=r we =1 THEem fFam 79U 0S &1 ATH----

(A) ATAT

(B) &

(C) TxeTHad

(D) e

Answer:

a
72, fHo ddg ewr A T Al O Sefdd faare) o1 g1 feas gri far S 82

(A) I IRPR gRT

(8) fa OraTad gRI
(C) T AT gRI
(D) Fai= UTATg gIRT

Answer: D
73. 2T FT3e AT (Head Count Ratio) T Hgl TISTHT 4T 22
(A) TR @ & = T ATl STAEedT T SAaTd
(B) Y @t & = 7 T A T HeAT
(C) 9T FaH TS AT T SATATT
(D) ereT=raeAT | HIHTq Tl FT SATATT

Answer: A
74. 1 T3HET 2023 | 30 FEEY 2024 TF G20 FT TeFAAT Fohe 97 3 ITH ZRIT?

(A) =T&oT eshiaT
(B) WA
(C) aTSfiet
(I RESIGIRE

Answer: Cc
75. T &f ® A % 3o & = |93 &9 i v 'R afw' #1 s T T 8?
(A) =T

(B) STveATRST
(C) =9TeT

76. I secA=", A cotA ST AT FIAT 72
465

w ¥



Il e

(8) 4/ 65
V65
@ 2
4
D) 4/ 65

Answer: d

77. UF GFEGAT O4F F IUR A IR 88cm iyl IR aF A FUE 28cm B, A AF FT aF (AT &G FIT 82

V5

(A) 616 cm?

(B) 561 cm?

ol

(C) 627 cm?

v3_,

(D) 670 cm

Answer: A
78. A B3R CUH MR Y& A &l A, 10 IS &. ST § U7 Ueh a¥ &G 5 HUs &. AR o9 &ar g1 B IR H 20

IS T. ST & TAT 2 I¥ 91 98 5 I 3. AqM9H o AT &) CY® | 3fed dh 15 FUS T, oMT @M gl el a§ &

38 SUR # Fel 8.4 FUS . & ATH @Il &l cﬁAﬁﬁﬁﬁmmmwgp?
(A) 0.3
(B) 0.4
(C) 0.6
(D) 0.2

Answer: A
p® VsZ + M2 + 2N2
79. I 6V6 +2v/2¢? = (V6p + V2q) (Sp? + Mq? - Npq) &,dY
(A) 10
(B) 9
(C) 8
(D) 12

FT UATCHF AT FIAT 87

Answer: c
80. TP BreT & a1 HioT 1: 2% rgud A € IR 7 BVl BT I ARRN IV & aRIER & | FIH BIC DIV BT A9 &7 &7

o
(A) 20

]
(B) 30

o
(C) 25

o
(D) 40



Answer: B
81. HM iU X IR 3wl & a8 BIE | B G 8, ™ 18, 27, 30, 40 3R 45 9 fawfa

B W YAG ReIfar # A9 9 ure Bar 21 X B 37 | T e R U A9

ST DI |

(A) 23

(B) 15

(C) 16

(D) 28

Answer: C
82. afk foh wrsfrar @1 ufear 1.8 km @ <& @1 &% # 160 @ o 7, o SHat

frear (m ®) & 82
45

A) 8m

4.5

(8) 41
15

© 8w

45
D) 41T

Answer: A
83. 3 anf & ai@ 4 Rs.2,800 &1 foefi <13 R Areor &gror RS.420 8 | 330 <% 3R sa+ &

3 & fow Rs.3200 W AR &1 fBaer 8rm?
(A) Rs.480
(B) Rs.560
(C) Rs.440

(D) Rs.640

Answer: A
84. AR B %! o 3y &1 U 6: 58| WX 99 gd, I§ 3gura 54 o) <9 a9 916, A SR B @1 3y &1 Sgura war grn?

(A) 17:15
(B) 11:15
(C) 15:17
(D) 15:11

Answer: A
85.  wwHe: 4 cm iR 3 cm 3531 aTel A1 g, TH—gER BT 98T WY A W B B | 99 DAl B 9 @ g9 (em H) fHa 8nfi?



(A) 9
(B) 16
(C) 7
(D) 5

Answer: C

86. usy AR B, f&Hl 49 g5 ol 1 HA: 36 3R 45 e § @rell R Aad © wiafe d1sy C, aida <ol @I 15 e § R wahar 81 B3R C, 3
U T 15 e @ T @rerr ofrar 8, SR R |11 & §g @R f3ar ofrar @ &iRCA BT Wi ST @ | gy A, Sh bl ————— (e &) & @rel |

87.

(A) 20
(B) 24
(C) 30

(D) 18

Answer: B

X & FH A & AT gF 36T arel FE&AT 6913 x 08, HEAT 88 W AT 872

(A) 6
(B) 8
c 4
(D) 2

Answer: b

88. 31,250 #r LIy X 12% yfaad A aT & 2 awf F AT THgef™r sarar 71 g, I saTar ' 8-AF F YN
W wAfa fram Smar 82

(A) 18,016
(B) ¥8,106
(C) 18,156

(D) 18,116

Answer: d

89. A 3T B # 3T ¥ 20% 3 3 C A 37 A 3R B & Fol 3T ¥ 55% FA ¢ C A J7 A i 31T &

90.

fraer ufdera & 872

(A) 21.2
(B) 17.5
(C) 20.4

(D) 16.8

Answer: b

B & ol & A, 30% 3l FRiFee & duT B vF &1 A 13 Rl # q@ FT @Har § 3dhar A 36 FE A



fraa o=t F g #x Aem?

(A) 7
(B) 10
(©) 11
(D) 9

Answer: b

(:rr 5) 1
91. afx cot M2 '""Ig?r,fﬁcnsg

(A) 1/2
() 1
() V3/2
(D) O

BT AM S0 DI |

Answer: C
92. 9 Gl @ 3NAd 19 ¢ | Il YIq IR TRl &f d 14 ®, ar 3ifd 5 Temei &1 g Sid B |

(A) 23
(B) 20
(C) 10

(D) 25.25

Answer: A

A
93. &=l A Bd CdiM g ¢4 <fia 1Y @ f& 4 yo—quR & arsrasdf 21 afe  ABC &) qui¢ waer: 4 91, 6 I 3k 8 4 2, ai
gal &1 Broarat &1 aTwd w1 @ ?

(A) 10 9#

(B) 14 |l

(C) 12 v

(D) o |

Answer: D

94. 138_[35_{53_(89_ 72 =9 XB]}]zO

(A) 23



(B) 6

(c 3
(D) 2
Answer: B

95.. PQRS T# TH Iq¥e &, fwd PQ= 14.4 3, QR = 12.8 @+ 3K SR = 9.6 ¥ §| 3P PR, QS #
cfafenfoa #xar 8, @ PS # dar$ F41 87

(A) 13.6

(B) 15.8

(C) 16.4

(D) 19.2

Answer: D
96. IfE a+b=24 3T 8ab =256, A 3a%+3b? FT AT AT §?
(A) 512
(B) 1536
(C) 1024
(D) 1636

Answer: A
2\ _ 2,8
(x+x)—7%ﬁ(2x +x2)

(A) 94

97. afe BT AT ST BN |

(B) 44
(C) 90

(D) 50

Answer: C
1+tan 4 1+cotd

08. cﬂsecﬂ+ secA

(A) 2sec’A

(B) secA -cosec A
(C) secA +cosec A
(D) 2cosec’A

BT 7 71 87

Answer: C
99. R Ram AT ga I (IE AK) TF Toodrsl GART 9T GIRAT H FAIC A€ I F geAfar §1 5T Wl wiw arRa
# TF Jedaldl GRT I1T T Fel I 600 ¥ TH FAAY qrt & TF Feaarsr GaRT F01¢ A0 I H g0 @t g oot &



AT AT T & gfaerd § & & @ a3 g

- o i "-\_\
’ E "
i *,

r 1ok Y
f A \
[ B AT "I
| 5% - [

R
II / ‘H‘ﬁ"“‘--.-
1‘\. B
¢ i 20% {.f
13%
1‘\\'\-\. .d'.'/.-

Y A ¥ 99T TR X 9T D § 91¢ Y XAl 1 fhem uferera 87
(A) 90 wfaera

(B) 70 wfaera
(C) 150 wfaerd
(D) 120 wfaera

Answer: D
100. T R v g9 0w # vF AT af & e e aRar & o #t gfaera & qufar o= 31 afy af & @+
#1 a7§ Fo A Rs.3,00,000 ¥ FFafaf@a & & frar Nl o @& A 7§ For TR Rs. 1,50,000 F T 2

The expenditure of a family

T& YRAR & T (The expenditure of a family)
¥9d (Savings), 9R@g=T (Transport), & (Clothing), M (Food), fI&TT (Education), 3= (Others), 3T (Housing).
(A) FaId, JATaTH, fv8T
(B) GRageT, 3re, Rram
(c) fRrem, 3, g=
(D) «ad, g, e

Answer: B



